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:استفاده‌از‌تابعایده‌ی

مجزایعیب‌یابیو‌ارزیابیکه‌امکان‌می‌شودجزئی‌از‌برنامه‌در‌قالبی‌مجزا‌نوشته‌❖

.می‌سازداز‌آن‌را‌فراهم‌چندبارهاستفاده‌یآن‌و‌همچنین‌

:ساختار‌تابع

ورودی‌ها❖

نام‌تابع❖

خروجی‌ها❖
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Listing 8.1 Pseudocode function definition

addNSq = functionDefinition (x,y):

output = (x+y)ˆ2

:مثال

ه‌تابعی‌با‌دو‌متغیر‌ورودی‌بنویسیم‌که‌مربع‌مجموع‌دو‌عدد‌ورودی‌را‌بمی‌خواهیم

.عنوان‌خروجی‌برگرداند

(placeholder)جانگهدارو‌(temporary)موقتی‌،‌(local)محلی‌،‌yو‌xمتغیرهای‌

.هستند



http://maleki.semnan.ac.ir 7

✓
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Listing 8.2 Python code for Hodgkin and Huxley model

import pylab as pyl

import math as m

vinit = 0.0

dt = 0.01

ena = 115

gna = 120

ek = −12

gk = 36

el = 10.6

gl = 0.3

def upd (x,dlta_x):

return (x + dlta_x ∗ dt)

𝐄𝑵𝒂 ഥ𝒈𝑵𝒂 𝑬𝐊 ഥ𝒈𝐊 𝑬𝐋 ഥ𝒈𝐋

𝟏𝟏𝟓 𝒎𝑽 𝟏𝟐𝟎 𝒎𝑺/𝒄𝒎𝟐 −𝟏𝟐 𝒎𝑽 𝟑𝟔 𝒎𝑺/𝒄𝒎𝟐 𝟏𝟎. 𝟔 𝒎𝑽 𝟎. 𝟑 𝒎𝑺/𝒄𝒎𝟐

وارد‌کردن‌کتابخانه‌ترسیم
(ییبرای‌محاسبه‌نما)وارد‌کردن‌کتابخانه‌ریاضیات‌

تعیین‌متغیرهای‌مربوط‌به‌مقادیر‌ثابت

بروزرسانیقاعده‌یمعرفی‌تابع‌

گام‌زمانی×‌نرخ‌تغییرات‌مقدار‌+‌مقدار‌قبلی‌=‌مقدار‌جدید‌
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def mnh0 (a, b): return (a / (a+b))

def am(v): return ((2.5 − 0.1∗v) / (m.exp(2.5 − 0.1∗v) − 1 ))
def bm(v): return (4 ∗ m.exp((−1)∗ v / 18))
def an(v): return ((0.1 − 0.01∗v) / (m.exp(1 − (0.1∗v)) − 1))
def bn(v): return (0.125 / m.exp ((−1)∗v/80))
def ah(v): return (0.07 ∗ m.exp ((−1)∗ v / 20 ))
def bh(v): return (1/(m.exp(3 − (0.1)∗v)+1))

am0 = am(0)

bm0 = bm(0)

an0 = an(0)

bn0 = bn(0)

ah0 = ah(0)

bh0 = bh(0)

m0 = mnh0(am0,bm0)

n0 = mnh0(an0,bn0)

h0 = mnh0(ah0,bh0)

ሶ𝒎 = 𝜶𝒎 𝑽 𝟏 − 𝒎 − 𝜷𝒎 𝑽 𝒎

ሶ𝒏 = 𝜶𝒏 𝑽 𝟏 − 𝒏 − 𝜷𝒏 𝑽 𝒏

ሶ𝒉 = 𝜶𝒉 𝑽 𝟏 − 𝒉 − 𝜷𝒉 𝑽 𝒉

𝜶𝒏 𝑽 =
𝟎. 𝟏 − 𝟎. 𝟎𝟏𝑽

𝒆𝟏−𝟎.𝟏𝑽 − 𝟏
𝜷𝒏 𝑽 = 𝟎. 𝟏𝟐𝟓𝒆−

𝑽
𝟖𝟎

𝜶𝒎 𝑽 =
𝟐. 𝟓 − 𝟎. 𝟏𝑽

𝒆𝟐.𝟓−𝟎.𝟏𝑽 − 𝟏
𝜷𝒎 𝑽 = 𝟒𝒆−

𝑽
𝟏𝟖

𝜶𝒉 𝑽 = 𝟎. 𝟎𝟕𝒆−
𝑽

𝟐𝟎 𝜷𝒉 𝑽 =
𝟏

𝒆𝟑−𝟎.𝟏𝑽 + 𝟏
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def ina (m, h , v): return ( gna ∗ (m ∗∗ 3) ∗ h ∗ ( v − ena ) )

def ik (n, v): return ( gk ∗ (n ∗∗ 4) ∗ (v − ek) )

def il (v): return ( gl ∗ (v − el) )

def newS (v, m, n, h, t):

if ( t < 5.0 ) or ( t > 6.0 ):

istim = 0.0

else:

istim = 20.0

dv = ( istim − (ina (m, h, v) + ik(n, v) + il(v)))

dm = am ( v ) ∗ (1 − m) − bm ( v ) ∗ m

dn = an ( v ) ∗ (1 − n ) − bn ( v ) ∗ n

dh = ah ( v ) ∗ (1 − h ) − bh ( v ) ∗ h

vp = upd ( v , dv )

tp = t + dt

mp = upd (m, dm)

np = upd ( n , dn )

hp = upd ( h , dh )

return ( vp ,mp, np , hp , tp )

𝑪
𝒅𝑽 𝒕

𝒅𝒕
= 𝑰𝒊𝒏𝒋𝒆𝒄𝒕𝒆𝒅 𝒕 − ഥ𝒈𝑵𝒂𝒎𝟑 𝒉 𝑽 𝒕 − 𝑬𝑵𝒂 + ഥ𝒈𝑲𝒏𝟒 𝑽 𝒕 − 𝑬𝑲 + ഥ𝒈𝑳 𝑽 𝒕 − 𝑬𝑳

ሶ𝒎 = 𝜶𝒎 𝑽 𝟏 − 𝒎 − 𝜷𝒎 𝑽 𝒎

ሶ𝒏 = 𝜶𝒏 𝑽 𝟏 − 𝒏 − 𝜷𝒏 𝑽 𝒏

ሶ𝒉 = 𝜶𝒉 𝑽 𝟏 − 𝒉 − 𝜷𝒉 𝑽 𝒉
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vs = []

ms = []

ns = []

hs = []

ts = []

a, b, c, d, e = newS( vinit, m0, n0 , h0, 0.0 )

vs.append (a)

ms.append (b)

ns.append (c)

hs.append (d)

ts.append (e)

for i in ( range(2, 3000) ):

a, b, c, d, e = newS( vs[−1], ms[−1], ns[−1], hs[−1], ts[−1])

vs.append (a)

ms.append (b)

ns.append (c)

hs.append (d)

ts.append (e)

pyl.plot(ts, vs)

pyl.show()

و‌نوشتن‌handh.pyبا‌ذخیره‌کردن‌این‌کد‌با‌نام‌
python2 handh.py

.آن‌را‌اجرا‌نمودمی‌تواندر‌خط‌فرمان‌
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✓

✓
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% Preparation

clear all, close all, clc,

% Constants

E_Na = 115;        % Sodium reversal voltage

g_Na = 120;        % Sodium conductance

E_K = -12;         % Potassium reversal voltage

g_K = 36;          % Potassium conductance

E_L = 10.6;        % Leak reversal voltage

g_L = 0.3;         % Leak conductance

% time and Input Current

dt = 0.01; t = 0:dt:20;

I_injected = zeros(size(t));

I_injected(100:200)=20;       % Optional
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%% Initial Values

V = 0; V_dot = 0;

Am = ( 2.5 - 0.1*V ) / ( exp(2.5-0.1*V) - 1 );% alpha_m

Bm = 4 * exp(-V/18);                          % beta_m

An = ( 0.1 - 0.01*V ) / ( exp(1-0.1*V) - 1 ); % alpha_n

Bn = 0.125 * exp(-V/80);                      % beta_n

Ah = 0.07 * exp(-V/20);                       % alpha_h

Bh = 1 / ( exp(3-0.1*V) + 1 );                % beta_h

m_dot = 0; 

n_dot = 0;

h_dot = 0;

m = Am / (Am + Bm);

n = An / (An + Bn);

h = Ah / (Ah + Bh);

I_Na = g_Na * m^3 * h * (V-E_Na);

I_K = g_K * n^4 * (V-E_K);

I_L = g_L * (V-E_L);

𝑪
𝒅𝑽 𝒕

𝒅𝒕
= 𝑰𝒊𝒏𝒋𝒆𝒄𝒕𝒆𝒅 𝒕 − ഥ𝒈𝑵𝒂𝒎𝟑 𝒉 𝑽 𝒕 − 𝑬𝑵𝒂 + ഥ𝒈𝑲𝒏𝟒 𝑽 𝒕 − 𝑬𝑲 + ഥ𝒈𝑳 𝑽 𝒕 − 𝑬𝑳

ሶ𝒎 = 𝜶𝒎 𝑽 𝟏 − 𝒎 − 𝜷𝒎 𝑽 𝒎

ሶ𝒏 = 𝜶𝒏 𝑽 𝟏 − 𝒏 − 𝜷𝒏 𝑽 𝒏

ሶ𝒉 = 𝜶𝒉 𝑽 𝟏 − 𝒉 − 𝜷𝒉 𝑽 𝒉
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%% Loop

for i=2:length(t),

Am(i) = ( 2.5 - 0.1*V(i-1) ) / ( exp(2.5-0.1*V(i-1)) - 1 ); % alpha_m

    Bm(i) = 4 * exp(-V(i-1)/18);                                % beta_m

An(i) = ( 0.1 - 0.01*V(i-1) ) / ( exp(1-0.1*V(i-1)) - 1 );  % alpha_n

    Bn(i) = 0.125 * exp(-V(i-1)/80);                            % beta_n

    Ah(i) = 0.07 * exp(-V(i-1)/20);                             % alpha_h

    Bh(i) = 1 / ( exp(3-0.1*V(i-1)) + 1 );                      % beta_h

    m_dot(i) = Am(i) * (1-m(i-1)) - Bm(i) *m(i-1);

n_dot(i) = An(i) * (1-n(i-1)) - Bn(i) *n(i-1);

h_dot(i) = Ah(i) * (1-h(i-1)) - Bh(i) *h(i-1);

    

    m(i) = m(i-1) + m_dot(i) * dt;

    n(i) = n(i-1) + n_dot(i) * dt;

    h(i) = h(i-1) + h_dot(i) * dt;

    I_Na(i) = g_Na * m(i)^3 * h(i) * (V(i-1)-E_Na);

I_K(i) = g_K * n(i)^4 * (V(i-1)-E_K);

    I_L(i) = g_L * (V(i-1)-E_L);

    V_dot(i) = I_injected(i) - ( I_Na(i) + I_K(i) + I_L(i) );

    V(i) = V(i-1) + V_dot(i) * dt;

end

𝜶𝒏 𝑽 =
𝟎. 𝟏 − 𝟎. 𝟎𝟏𝑽

𝒆𝟏−𝟎.𝟏𝑽 − 𝟏

𝜷𝒏 𝑽 = 𝟎. 𝟏𝟐𝟓𝒆−
𝑽

𝟖𝟎

𝜶𝒎 𝑽 =
𝟐. 𝟓 − 𝟎. 𝟏𝑽

𝒆𝟐.𝟓−𝟎.𝟏𝑽 − 𝟏

𝜷𝒎 𝑽 = 𝟒𝒆−
𝑽

𝟏𝟖

𝜶𝒉 𝑽 = 𝟎. 𝟎𝟕𝒆−
𝑽

𝟐𝟎

𝜷𝒉 𝑽 =
𝟏

𝒆𝟑−𝟎.𝟏𝑽 + 𝟏

𝑪
𝒅𝑽 𝒕

𝒅𝒕
= 𝑰𝒊𝒏𝒋𝒆𝒄𝒕𝒆𝒅 𝒕 − ഥ𝒈𝑵𝒂𝒎𝟑 𝒉 𝑽 𝒕 − 𝑬𝑵𝒂 + ഥ𝒈𝑲𝒏𝟒 𝑽 𝒕 − 𝑬𝑲 + ഥ𝒈𝑳 𝑽 𝒕 − 𝑬𝑳

ሶ𝒎 = 𝜶𝒎 𝑽 𝟏 − 𝒎 − 𝜷𝒎 𝑽 𝒎

ሶ𝒏 = 𝜶𝒏 𝑽 𝟏 − 𝒏 − 𝜷𝒏 𝑽 𝒏

ሶ𝒉 = 𝜶𝒉 𝑽 𝟏 − 𝒉 − 𝜷𝒉 𝑽 𝒉
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%% Generating plots

figure, set(gcf,'Position',[300 100 800 400])

subplot(1,2,1), 

plot(t,I_injected,'b',t,V,'r','LineWidth',2), ylim([-20 120]), grid, 

legend('Injected Current','Voltage'),

subplot(1,2,2), plot(t,m,t,n,t,h,'LineWidth',2), ylim([0 1]), grid, 

legend('m','n','h'),
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✓

✓

✓
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✓

✓

✓

✓
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